Name:  Neo/ 1729/2018 Algebra I — Test 4 Review

’l
1) Given the following equations, identify the slope and y-intercept.
a)y=-x+8 byx=8 ; y=s c)y:%x+7
m= — M = idee % m= g/"Z
b= ¥ b= sne| & b= 7

2) Fill in the blanks for the definitions of S]OpC:
rise change in V2. —
sl S _)/__ /VZ Y1

A~y Changein _x Xz — X,

3) There are three different ways of writing the equation of a line. What are they called and what
do they look like?

a) Svhwémf A +B y = C
b) ;ﬁ"c*-:*-':'f“-“ slegec /l/ =m{¥-X) 'L)/,
C) b{.{}/’c - f'.!’?",j“zf{’ )/ = mA 'f’l”

4) One day you buy 2 pool passes for $12. Another day you by 8 pool passecs for $30.
a} Let x represent the number of pool passes and y represent the cost. Write 2 ordered pairs for

this story. 3012 . 62/ i2) (g 3¢
b) Find the slope of the line. g:ﬁ:: =g =3 _

¢) Find the equation of the line. Y= 3(3('*'2) £ i
d) What does the slope of the line mean (in terms of units)? =IX A H2

e PP
e) What docs the y-intercept mean (in terms of units)? L Z,V;B:f e |
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5) Given the following information, write the equation of the line. Use any form you want.
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6) Given the following points, find the equation of the line that passes through each pair of
points. You may leave your answer in any form of a line that you like. [i.e. slope-intercept, point-
slope, or standard]
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7) Lab results: An experiment was done to measure the time it takes for an ¢ngine to warm up.
They measured the temperature of the radiator fluid (°F) and time (sec). The best fit linc is
given below. The x- and y-axis start at zero and count up by tens.

a) Label the axes. B

b) Just like in your

experiment. circle

two “nice” peints and

find the equation of

the line.

¢) After 40secs, what &7

temperature 1s the

engine? ~3g T So

-t

d) How long until the};)

engine is 90°F?  ©

. - )
(70 spc

y = (x-20) +3e

=.Yx -G 20




